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6. What is the hydrogen ion concentration of a solution with a pH = 4.54?

2.9x 10"
1.1 107
7.8 x 107
2.9x107°
25010

monw»

7. Identify the following acids in terms of increasing acid strength.
HSO4, HOCIL, HCI, HF

HOCI, HSOy', HF, HC1
HSO4, HCl, HOCI, HF
HF, HSO4, HC1, HOCI
HSO4, HOCI, HF, HCl
HOCI, HF, HSO4', HCI
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8. What is the pH of an 8.61 x 10™* M solution of the weak acid, HOCI?

10.52
5.26
4.80
7.46
3.06
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9. What is the pH of an 8.45 x 10™ M of HBr solution?

3.07
7.08
1.54
10.93
6.92
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10. What is the pH of an 1.25 x 10 M solution of the weakly basic salt, NaOCI?

A. -9.27
B. 6.54
C. 9.44
D. 7.46
E. 10.36

11. What is the value of K, for Ca(I0s), if the equilibrium concentration of Ca’" =5.62x 107

1.26 x 10™
1.78 x 107
5.62 x 10™
295 % 107
7.10 x 107
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